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Xumudeckue csoucnsea

Lujesioyeu
3. Bzaumooeucmeue ¢ okcuoamu:
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Ca(OH), + SO, = CaSO, + H,0
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4. Bzaumodeucmeue ¢ pacmeopamu coJsieu:

2NaOH + CuSO, — Cu(OH), |+ Na,SO,
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o 1. B3aumooeucmeue wesrioyYHbIX U
LwesrioYHo-3eMeribHbIX Memaisisioe ¢ 000U

2Na + 2H,0 = 2NaOH + H,

o 2. Baumooeucmaeue okcuoo8 Werno4YHbIX U
W EesTI04HO-3eMeribHbIX Memarsisioe ¢ 000U

Ca0 + H,0 = Ca(OH),




Cnocobbr nonyyeHus HE:
HepacTBOPUMBIX OCHOBAHUW

e Bsaumoodelicmsue pacmeopa wiesioyu ¢
pacmeopoM COsIU

AICI, + 3NaOH = AI(OH)3I + 3NaCl

2NaOH + CuSO0, — Cu(OH)2I+ Na, SO,



